Day 12 Slope Point Form Day 3 November 28, 2019

Problems with the homework?
Page 372: #5,9, 11,12
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Write the equation which has the following slope and
passes through the given point.
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~ Puzzle Worksheet - Slope Point (given both).pdf

Why Did Gyro Go Into a Bakery? %

For each exercise below, find the equation of the line that has the given slope and passes
through the given point. Circle the letter next to the correct equation. Then write this letter in
each box at the bottom of the page that contains the number of that exercise.
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OBJECTIVE 5-n: To find an equation of a line .
given the slope and one point on the line. © 1989 Creative Publications 15
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§Puzzle Worksheet - Slope Point (given two points).pdf

What Happened When

'/S Two Fruit Companies Merged ?

For each exercise below, find the equation of the line passing through the
given points. Circle the two letters next to the correct equation. Then write these
letters in the two boxes at the bottom of the page that contain the number of

that exercise.

y= -3

Answers:

Answers:
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HOMEWORK

OBJECTIVE 5-0: To find an equation of a line given
two points on that line (not using the araph)

Complete puzzle worksheets
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Attachments

Q Puzzle Worksheet - Slope Point (given both).pdf
Q Puzzle Worksheet - Slope Point (given two points).pdf



‘Why Did Gyro Go Into a Bakery? @\

For each exe{cise below, find the equation of the line that has the given slope and passes
through the given point. Circle the letter next to the correct equation. Then write this letter in
each box at the bottom of the page that contains the number of that exercise.
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OBJECTIVE 5-n: To find an equation of a line

given the slope and one point on the line.
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that exercise.

Answers: o

QD y=x+3 @D y=gr-4
GD) y=px-7 y=2x+3
CD y=-3%+1 (EYD y=4x+7

yz_%g_4 L) y=2x+1

y=gx-1 y=—gx+4

What Happened When
Two Fruit Companies Merged ?

For each exercise below, find the equation of the line passing through the
) given points. Circle the two letters next to the correct equation. Then write these
i letters in the two boxes at the bottom of the page that contain the number of
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OBJECTIVE 5-0: To find an equation of a line given
two points on that line (not using the graph)
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